信用合作社營運資料明細檔檢核公式

10000＝11000＋11200＋11600＋11500＋12000－12090＋13000＋14000－14990＋15000－15090＋16000－16080＋19000
12000＝12110＋12410＋12510＋12420＋12520＋12610＋12620＋12710＋12720
14000＝14100＋14200＋14900         
20000＝21200＋21400＋22000＋29000    

22000＝22310＋22600＋22320＋22410＋22340＋22450＋22440

30000＝31000＋32000＋33100＋33200＋37000＋38000
38000＝今年度每個月「本月損益」65000累加
10000＝20000＋30000

4A000＝40000＋61000         
40000＝41000＋49000

5A000＝50000＋59000＋62000＋65000 

50000＝51000＋58000＋59900
4A000＝5A000

71800＝12000＋15000         
7083p＝70800 ÷71800        
71000＝12090＋15090
70760=70761+70762+70763+70764+70765（新增日期：92.9.16）

